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=2cos— =2, y=2sin= =2,z =1, —
2 0054 Vay = 4 x:;icos(-—%) =2,y=45in(—%) = —2f3,
so the point is {v/2, v/2.1) in rectangular coordinates. and z = 5, so the point is (2. —2 v/, 5) in rectangular
coordinates. i
2. (@ ®
r=1lcoss=—1,y=1sinm=0andz=e,
so the point is (—1, 0, e) in rectangular coordinates. B — 1508 dn —0.p— 15in3—— N |
i 2 2

so the point is (0, —1, 2} m rectangular coordinates.

-1 . =
L @rr=2+1 =12+ (- 1)“=250r—\/_tan9=:—r-=——=—1andfhepmnt(l,~1)Bmthefomihquadrantof

the zy-plane, 50 6 = ZX + 2n7; z = 4. Thus, one set of cylindrical coordinates is (v/2, 25, 4).

®) 2 = (—1)* + (—v/3)" =450 =2;tan 6 = =42 = /3 and the point (—1. —/3 ) is in the third quadrant of the
zy-plane, 50 § = 2 + 2ns; z = 2. Thus, one set of cylindrical coordinates is (2, 4=, 2).
4 @r=(2v3 ) ¥ = 16sar =4; tana——g_—-andthepomt( 3.2) is in the first quadrant of the xy-plane, so
= Z + 2n7; z = —1. Thus, one set of cylindrical coordinates 1s (4, £ )

®)r’=4+(-3)>=25s0or =5 tan8 = 2 andthepomt (4, —3) is in the fourth quadrant of the xy-plane, so
6 =tan~' (—3) + 2n7 &~ —0.64 + 2n7; z = 2. Thus, one set of cylindrical coordinates is

5. Since @ = % but r and » may vary, the surface 1s a vertical half-plane including the z-axis and intersecting the xy-plane in the
halfdiney =2, 2 > 0.

2

6. Since r = 5, 2” + y® = 25 and the surface is a circular cylinder with radius 5 and axis the z-axis.
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